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Question: 1 
   
You developed an ABAP Managed Database Procedure (AMDP). You want to allow the enhancement of 
this AMDP using a Business Add-In (BAdI). Which of the following objects must you create? Note: There 
are 3 correct answers to this question. 
 
A. A BAdI fallback implementation 
B. A BAdI definition 
C. A database procedure 
D. An enhancement spot 
E. A BAdI sample implementation 
 

Answer: A, B, D     
 

Question: 2 
   
In a graphical calculation view, you want to implement a union between two result sets that differ only 
in the fact that one of the two has one additional field named ADDRESS. How can you achieve this in a 
union node? Note: There are 2 correct answers to this question. 
 
A. Create an input parameter for the ADDRESS field. 
B. Exclude the ADDRESS field from the union. 
C. Create a restricted column for the ADDRESS field. 
D. Map the ADDRESS field to a constant value. 
 

Answer: B, D     
 

Question: 3 
   
You are using ABAP Development Tools, and you have placed your cursor on a method name in a class. 
What key do you use to navigate between a method definition and its implementation? 
 
A. F2 
B. F3 
C. F4 
D. F1 
 

Answer: B     
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Question: 4 
   
How many result sets are returned when an SAP HANA database procedure is called using the 
CALL...WITH OVERVIEW statement? 
 
A. Two result sets 
B. As many result sets as there are table output parameters in the procedure 
C. One result set 
D. As many result sets as there are input parameters in the procedure 
 

Answer: C     
 

Question: 5 
   
Which tools can you use to provide input data for the SQL Performance Tuning Worklist (transaction 
SWLT)? Note: There are 3 correct answers to this question. 
 
A. ABAP Test Cockpit (transaction: ATC) 
B. SQL Trace (transaction: ST05) 
C. Database Performance Monitor (transaction: DB50) 
D. SQL Monitor (transaction: SQLM) 
E. Code Inspector (transaction: SCI) 
 

Answer: A, D, E     
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